
Laplace 's Equation
in a Disk



Laplacian in polar
coordinates
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A : Co , a] → R Eff- IT, IT] → IB

Differentiability of w translates into the following
conditions for B fo)
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The logic of the problem tells me that
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be defined . So
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So the product solution is 1
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In the previous
solution (2--0) the powers of
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a special role . So I
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For X-- ut my product solutions
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By superposition principle
the infinite linear

combination is also a solution :
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Im = Atf ibn = BET Laplace's E2
The solution of the boundary
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